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e Profit and Loss
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EXAMS

Q) A shopkeeper sells his articles at their cost price but uses
a faulty balance which reads 1000g for 800g. What 1s his
actual profit percentage ?

(@ 25% T (b) 20%

(c) 40% (d) 30% \

ﬁgp»u) X Ip = 00 X 100 = o?fo/o
P 500
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Q) A shopkeeper sells his articles at their cost price but uses
a faulty balance which reads 1000g for 800g. What 1s his
actual profit percentage ?

(a) 25% (b) 20%
(c) 40% (d) 30%

Ans: (a)

XAMS
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Q) Two lots of onions with equal quantity, one costing ¥ 10
per kg and the other costing T15 per kg, are mixed
together and whole lot 1s sold at ¥ 15 per kg. What is the

profit or loss?
(@) 10% loss (b) 10% profit
(Y7 20% profit d) 20% loss

Lot Fhe Zaam%?: bo xkj 74”” each [of,

P - fox + /Hx ;“%M

T "
P = /5(%%9 :{?07. )/m%lﬁ

S XD < o?f)z;
g5 -

EXAMS
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EXAMS

Q) Two lots of onions with equal quantity, one costing ¥ 10
per kg and the other costing ¥15 per kg, are mixed
together and whole lot 1s sold at ¥ 15 per kg. What is the
profit or loss?

(@) 10% loss (b) 10% profit
(¢) 20% profit (d) 20% loss

Ans: (c)
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Q) A milk vendor bought 28 7 of milk at the cost of ¥ 8.50 per /.
After adding some water, he sold the mixture at the same
price. If he gains 12.5%, how much water did he add?

(/_l

(@) 5.51 (b) 4.51
() 351 (d) 2.51

P~ Q€% £ £.99

9p . (48 + 2) 950

/48 = 8.5 x%2 % 159
1 % &5

N2l

EXAMS
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Q) A milk vendor bought 28 7 of milk at the cost of ¥ 8.50 per /.
After adding some water, he sold the mixture at the same
price. If he gains 12.5%, how much water did he add?

@ 5.51 b) 451
© 3.51 (d) 251

Ans: (c)

EXAMS
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Q) Anu sold an article for ¥480 at some profit. Had she sold it
for %400, then there would have been a loss equal to one-
third of the initial profit. What was the cost price of the
article?

() TS0 (b) T30 (o) TA25 (I T420 (P

e

S’/0: a? Yo j/ﬂz = ‘%C/DO/
/m/; Yo - Aok = ¢f ~ 0

cr o0 = L[y -ct)

Yr 2
; ¢/ féow
p - }Ko A8 - 4

a

EXAMS
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EXAMS

Q) Anu sold an article for ¥480 at some profit. Had she sold it
for %400, then there would have been a loss equal to one-
third of the 1nitial profit. What was the cost price of the
article?

(a) 450  (b) 430 (c) 3425 (d) 420

Ans: (d)
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/

Q) A man buys 4 tables and 5 chairs for ¥ 1000. If he sells
the tables at 10% profit and chairs 20% profit, he earns
a profit of ¥ 120. What 1s the cost of one table?

(a) T200 (b) 220
(©) 3240 d) T260

C/)o7[ A Tebly —— I
b g 4 Cﬂ)a;TS — ?/000 -9
A0 (/000/1) J20 _ |20

+
(00 Do

1y -}/200"&_ 120

Jo

\)

\1

EXAMS
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Q) A man buys 4 tables and 5 chairs for ¥ 1000. If he sells
the tables at 10% profit and chairs 20% profit, he earns
a profit of ¥ 120. What 1s the cost of one table?

(a) T200 (b) 220
(©) 3240 d) T260

Ans: (a)

EXAMS
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EXAMS

Q) A trader marked a watch 40% above the cost price and
then gave a discount of 10%. He made a net profit of
T 468 after paying a tax of 10% on the gross profit. What
1s the cost price of the watch? f\

(@) 31200 (b) 1800 g Ny
(&f 2000 (@) 2340 j’”f /)fvf it - é V-4 j5—0 >
. - 50 /o)
Piscounf - L X Z cP
b _ 5 o _/,7_ AL cp - 468
0 50
SP = Zepy 63 74
z [~/ ) . 2= XS0 = 4000
5 ( fa} Y =y CP - ¢ %o ‘—L

- ) /X//gj
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Q) A trader marked a watch 40% above the cost price and
then gave a discount of 10%. He made a net profit of
T 468 after paying a tax of 10% on the gross profit. What
1s the cost price of the watch?
(@) T1200 (b) T1800
(c) ¥2000 (d) ¥2340

Ans: (c)
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EXAMS

Q)One saree was purchased for ¥ 2064 after getting a

discount of 6% and another saree was purchased for \

T 396 after getting a discount of 1%. Taking both the %7(‘”/ discoun’ - / 600 '%q) +
fitems as a single transaction, what 1s the percentage of

discount? % (% b —3%
@) 3.5 4 - =
© 7 @ 75 . '¢
o 70 x5 | -
MP — 6% en MP = By __ , \(pma@unk X 10
7 [ 600 _

%MP :MW ) p o
Mp = SEYXmWO - o%oo—ﬂ -
9/,/7 Wﬁ/ yd

Mp :%X/@O - 0%0

Ny —
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Q)One saree was purchased for ¥ 564 after getting a
discount of 6% and another saree was purchased for
T 396 after getting a discount of 1%. Taking both the
items as a single transaction, what 1s the percentage of
discount?
(@) 3.5 (b) 4
(c) 7 d) 75

Ans: (b)

EXAMS
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Q)A shopkeeper buys a product of ¥ 150 per kg. 15% of product
was damaged. At what price (per kg) should he sell the
remaining so as to earn a profit ot 20%?

13 13

205— %207 —

() 20> (b) 7
13 13

: - 2=
© 203 @ 17

EXAMS
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Q)A shopkeeper buys a product of ¥ 150 per kg. 15% of product
was damaged. At what price (per kg) should he sell the
remaining so as to earn a profit of 20%?

13 13

205— 2207 —

() 20> (b) 7
13 13

) %209 2=
© 7 @ 17

Ans: (d)

EXAMS
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L L .. 1
Q)An article is sold at a certain price. Ifit is sold at 33;% of

.. : 1 :
this price, there 1s a loss 0f33 3 %. What 1s the percentage

profit when 1t 1s sold at 60% of the original selling price?

@ 17—

@ 20 b) 30 ©) 33 .

0 |
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L L .. 1
Q)An article is sold at a certain price. Ifit is sold at 335% of

. : 1 :
this price, there 1s a loss 0f33 3 %. What 1s the percentage

profit when 1t 1s sold at 60% of the original selling price?

@ 20 ®b) 30 ©) 33% (d) 17%

Ans: (a)
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Q)A cloth merchant buys cloth from a weaver and cheats him
by using a scale which 1s 10 cm longer than a normal metre
scale. He claims to sell cloth at the cost price to his
customers, but while selling uses a scale which 1s 10 cm
shorter than a normal metre scale. What is his gains?

@ 20% ®) 21%
2 1
© 225% @ 237%

@i=]
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Q)A cloth merchant buys cloth from a weaver and cheats him
by using a scale which 1s 10 cm longer than a normal metre
scale. He claims to sell cloth at the cost price to his
customers, but while selling uses a scale which 1s 10 cm
shorter than a normal metre scale. What is his gains?

@ 20% ®) 21%
2 1
© 225% @ 237%

Ans: (c)
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Q)By giving 25% discount a trader earns 25% profit. If he
sells the 1tem at 10% discount, what 1s his profit?

(@) 10% b) 40%
(©) 45% d) 50%
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EXAMS

Q)By giving 25% discount a trader earns 25% profit. If he
sells the 1tem at 10% discount, what 1s his profit?

(@) 10% b) 40%
(©) 45% d) 50%

Ans: (d)
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Q) A man bought 500 metres of electronic wire at 50 paise per
metre. He sold 50% of 1t at a profit of 5%. At what percent
should he sell the remainder so as to gain 10% on the whole

transaction?
(@ 13% (b) 12.5% © 15% (d) 20%
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Q) A man bought 500 metres of electronic wire at 50 paise per
metre. He sold 50% of 1t at a profit of 5%. At what percent
should he sell the remainder so as to gain 10% on the whole

transaction?
(@ 13% (b) 12.5% © 15% (d) 20%

Ans: (c)
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Q) A shopkeeper gets a loss of 28 (4/7)% on CP, find percentage

loss on SP. 0
(@) 30% (b) 20;%

(¢) 40% (d) None of these
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Q) A shopkeeper gets a loss of 28 (4/7)% on CP, find percentage
loss on SP.

D
(@) 30% (b) 202”’
(¢) 40% (d) None of these

Ans: (c)
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e Speed, Time and Distance
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